Eureka Module 1 Lesson 22 Problem Set 6-10
[image: image1.png]Given: SUand RT bisect each other

Do & SVRand & UVT meet the SAS criteria?
5Uand RT bisect each other

sv=uv

RV=VT

mSVR = meUVT

4 SVR=aUVT




[image: image2.png]Given: JM = KL, J8 L WL, and KL 1 3L
D0 & JMLand & KLM meet the SAS citeria?
M =KL

JH L WL, R 1 WL

meJML = 90°, mcKLM = 90°

meJML = meKLM

ML=LM

A ML= & KLM
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Given: 4 RSTisisosceles, with RS = RT, and SY =TZ.
Do & RSYand & RTZ meet the SAS criteria?

& RSTis isosceles with RS = RT
meS=meT

sy=12
4 RSY=Z aRTZ




Eureka Module 1 Lesson 24 Problem Set 1-4

[image: image4.png]Circles with centers A and B intersect at Cand D
£CAB= cDAB

ca=pa
cB=DB
AB=4B

4CAB=4DAB
LCAB = .DAB





[image: image5.png]Given: mz] =meM,JA = MB,JK = KL=LM

prove:  KR=IR

me] =meM
jA=MB
JK=KL=1M
JL=JK+KL

KM =KL+LM
KL=KL
JK+KL=KL+ LM
JL=KM

4 AJLZ 2 BMK
ZRKL= £RLK

KR=IR





[image: image6.png]Given: miw =mex and mey =miz
Prove: (1) 8ABE= 4 ACE
(2) AB= ACand 4D 1 BC

mey=mez
mzAEB=msAEC
AE=AE
mew=mex

4 ABE 28 ACE

AB= AT
4aD=4D
4CAD =4 BAD
mzADC=mcADB
mzADC +mzADB = 180°
2(mz4DC) = 180°
mzADC=90°

AD 1BC




